Find each composite.

6.  Given f(x)=—9x+3 and g(x)=x", find (fog)x)

Fog(x) = $lgo- €M) - Sq(x4) #3 = -9x143

7. Given f(x)=2x-5 and g(x)=x+2, find (fog)x)
j-”oa(x) 2 y U‘j(*)) = Y’ XYL) = 2002)-%
= LNV -S
Py = Sl

8.  Given f(x)=x"+7 and g(x)=x-3, find (fog)x) / distribule.

gog(x) Y (9(x)) = F(x-2 «(x-b) r+
x> bx yA+3

9.  Given f(x)=4x+3 and g(x)=x, find (go f)x)
gqof ) = g (Unr3) = Clny3Y = | x>+ 2td3

/ = Sox* 4 2ux +9
2

iy
( (11"0) - a* s La\o"f'b
10. Given f(x)=x-1and g(x)=x"+2x-8, find (gof)(x)

OS'(X) = 3(?()()) - (x—'\) — (y~\)7'+z(x \) -
8 (3 ™ zxx-\’rl/L’\ -3
= X -4



